ETERE RS E

20244E04827H + W FE W ® R EEREtaH
WS (BL4R)
R OH Sk (kg) | BEFM) —— — BEH | B |EEEREIKS
= il i ZAE (kg)

xR 5,720 1.175]  2,600] 2,300 350|ERBE| 10. 00[€ U IFAH
KR 18, 580 2,621 2,200 2,000 950 ERER| 10.00i48 =t
x| oo 39 23000 | 2.000/ERSR| 10.00E=HKE
AB 400 25 700 600 450| =5 | 10. 00/ YR IEAH,
A 16, 190 3,917 3,300 3,000 1, 200 | K18 10. 00|48 xt
A oo n3ep o 328f 0 2,800f } 2,300|R&AKR | 10.00|FE=#HMRET
== 10, 440 963|  1,800] 1,200 600|EER &R | 15.00/48
TES 630 71 1,500 BERE | 15.00|Z=EHRE
FyAYy | 1670 104} 70| 600, 30 (ERER| 10.001 YR FAK,
TRy 66, 490 7,246 1,400 1,000 BO0IERE R 10.00/48 =
Hapny 4,340 298| 1,300 1,000 REBE| 10.00|5 =50z
E>nag |l el | 2200 |EEBR| 400/8UREAK
F5nAE 2,590 1,226 3, 300 1, 800 1, 200{$E[ & 6. 00(#8 Xt
[E>hALE 126 72| 2,800 2300 2000|ERER| 4 00|m=HmE
1=k S | .8930f 3553 1,400 1,100f ~ 400|EERBR| 3.00[f8 »
BE 396 161 1, 800 ERBE| 6 00|m=ERE
Jowyal)— 1,390 425 2,200 AERIR 10. 00|48 =t
Javay— | J2y ‘ o..3,.000)  [RIER | 6. 00|E=FMRT
LR 14, 056 25771 2,500 2,000 650 S5 | 10.00/48 %t
L&R 1,210 213|  2,100]  1,800]  1,300{Eu5E | 10.00|E=ER=
GV i 6,5/0f 2,004} 2,200 700f 600|EERSR| 500/ x
R 305 133 2,200 1, 800|EiH 12 5. 00| = HER5E
LFEE 9, 554 3,307 1,500 1,200 800|EEIRER 4.00)148
cFEE 36| 162y  1,500f  1,200f  1,000(ERER| 4. 00|FE=FRE
+55 82 162 120 ERESE| 006/ %
HE 915 35| 21000 2,000 100 RER| 5 00[2YRITAL
HE | 225| __ 84 1,900 1.800] _ 1,300|fkAR | 5.00/# *x |
HEE 265 103 2,000 1,700/ ERE R 5. 00| =HER5E
EfK 21, 260 3,408]  2,200] 1,800 600|EIRBE| 10.00/#8 %t
HEHE 10,9504 1,843f 1,880 | 1,250 ERBR| 10. 00| =HMRE |
% 4,070 256 600 300 REBE| 10002 YXITALL
A 12,132 1,801  1,700]  1.500] 1,000/xmE | 10 00l48
EE ] oo L] 3,000 | 20001EHR | 20.00|3=#HMRE |
Yh 3,175 1,493| 5800  3500| 2 800|mHE | 10 0ol wt
EAZ= 3,150 1,610f 6,200 5100| 3,500/ F#HR | 10.00|E=FM5E
A0y 1,592 996 2,400 2,200 1,800|ERBR 5.00{% =t
A0 80 94| 12,000 8600 8 000|EREBE| 8 o0|m=HmE
& 1,467 1, 552 400 250 120 RRE|  0.27|#YSITALL
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BB | Hdk(e) | @BEFR) RRERE Bi | RERRREIKS
i e wE | P | % w |
= 1,580 1,71 300 280 110|E g8 0.25(48 *f
Cigiy 1,020 583 5, 000 3,500 1,300 BRG] 5. 00[HYRITAHL
B o 2A 1,137y~ 6,600) ~ 5000| 3 000|#&#FR | 13.00148 ¢
frizpiy 728 335 6, 600 6, 400 4, 400|RERIR 13. 00| =& fR5E
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